RUNE R

)

@ '

W\
\ \ /

=

/ /
SMALL MEDIUM LARGE

/%/H@z
KM N\ / 0\
W/W




o L]
L] o °
(]
o
N

BK

K8 M8x35 TRZ M5x35
N BRI = 0 ) =)
A > > >
& 3
R —
SO o N = O W13 MLXT3
i xx g = @ /\
= o>
—| X =X =
> | X R X
e w V2 IR EENEESN
ol W > > >
: R
(|
=
o
o
o=




K8 M8x35

Q )

TRZ M5x35







THE L90 ANGLE SECTION IS USED
10 FIX THE SHELF TO THE WALL

EXTA €M

L
Q)
~t

W

L —

[|_ Mounting fo the wall on your own (screws and plugs nof available).




(GEL
==
EE]

5




N\

| X

/\
S\
\

\\ ]

=




